











































पी. आर. हायस्कूल सोसायदीचे कला विज्ञान आणि वाणिज्य महाविद्यालय, धरणगांव जि. जळगांव. डेडस्टॉक रिजिएटर सन 28\$5 — \$6 (२०,५-१६)

Nolleyball Synthehic one piece Geo-20 bot one PIVIA Volleyball one piece VFT Approximated NIVIA Spot Volley Volleyball Net telam and Boxing Gloves VSE Messuing Tape 50 mt Knee ap & Anklet Taekwondo & Judo kit heavy Cotton with long Shart awarding to Eules & Lagran for a seg 1 mile The man and a seg 1 mile The mile The man and a seg 1 mile	अ		मागील वर्षाती	ल नग वस्तु	नविन व	स्तुंचीं खरेदी				एकूण	िं≉मत	
Nolleyball Synthetic one piece Ge-20 boot one NIVIA Volleyball One piece VFT Apparad NIVIA Spot Volley Volleyball Direct Hick quality Boxing Gloves USE Metsuring Tape 50 mt Last Tackwondo & Judo kit heavy Catton with long Shart according to Euleo Resulting To Euleo Resulting To Euleo Last La	斩.	मालाचे वर्णन		किंमत	नवीन वस्तु / नग	बस्तु/नगाचा भाव	एकूण किमत	सामान अंस्याची तारीख	सामान कोणाकडून आले	एकू जनगव वस्तु ३ + ५	एकूण कि	शेरा
Volleyball Gynthetic one piece Ge-le boot one NIVIA Volleyball One piece NFT Copperate NIVIA Spot Volley Volleyball Net telam core Classic LIMCA thick quality Boxing Glover VSF Messuring Tape 50 not Knee Cap & Anklet Taekwondo & Judo kit heavy Cotton with long Shart according to luter & Lagulat.	8	2	3	8	4	ę,		6	9		8.8	A THOU
Volleyball one piece VFT apparved NIVIA Spot volley Volleyball Net telan ave Classic LIMA Hick quality Boxing Gloves USF Messuring Tape 50 mt Knee cap & Anklet Takwondo & Judo kit heavy Cotton with long Shart according to Eules & Segulat".	1								Khandesh sparts			
Volleyball one piece NFT appeared NIVIA Spot Volley Volleyball Net telson ares Classic LITICA thick quality Exping Glover VSF Messuring Tape 50 pt Knee ap & Anklet Taekwando & Judo kit heavy Cotton with long Shart according to Euler & Regulat.	1.				6 psc	760.00	4560 -00		Bill No. Ka/18			The same of the sa
Applied NIVIA Spot Volley Valleyball Net telson core Classic LIMA thick quality Boxing Gloves VSF Poils 1475 00 2950 00 Mensuring Tape 50 pt. Knee cap & Anklet Tackwondo & Judo kit Heavy Cotton with long Shart according to Eules & Legulat.		G20-20 bost one NIVIA							14/10/2015			
Classic LIMA thick quality Spain Glover USF Boxing Glover USF Mersuring Tape 50 mt. Knee cap & Anklet Tackwondo & Judo kit heavy Cotton with long Shart according to Eules & Legywat.									0			
Valley ball Net telson cores Classic LIMCA thick quality Boxing Gloves USE 2 pais 1475 00 1950 00 Messuring Tape 50 pt. 1 ps. 850 00 850 00 Knee cap & Anklet 12 pais 120 00 1440 00 Tackwondo & Judo kit 4 set 825 00 3300 00 heavy Cotton with long Shart according to Eules & 2 egulat".					3 psc	1110.00	3330.00	alia o				
Valleyball Net telson cores Classic LIMCA thick quality Boxing Gloves USE 2 pais 1475 00 1950 00 Messuring Tape 50 pd. 1 ps. 850 00 850 00 Knee cap & Anklet 12 pais 120 00 1440 00 Tackwondo & Judo kit 4 set 825 00 3300 00 heavy Catton with Long Shart according to Eules & 2 egulat".		approval NIVIA Spot Volley				Sale parties &	14. 4		A State of the state of	I Land		
Boxing Glover VSE 2 pair 1475 00 2950 00 Messuring Tape 50 pt. 1 ps. 850 00 Knee cap & Anklet 12 pair 120 00 1440 00 Tackwondo & Judo kit 4 set 825 00 3300 00 heavy Cotton with Long Shart according to Eules & Regulat.		Volleyball Net telson and							-21940			
Boxing Gloves USE 2 pais 1475 00 2950 00 Messuring Tape 50 ppt 1 psc 850 00 850 00 Knee cap & Anklet 12 pais 120 00 1440 00 Tackwondo & Judo kit 4 set 825 00 3300 00 heavy Cotton with long Shart accarding to rules & 2 pais 1475 00 2950 00					1 psc	1250.00	1250.00					
Messwing Tape 50 mt. Knee cap & Anklet 12 poil 120 00 1440 00 Tackwondo & Judo kit 4 set 825.00 3300.00 heavy Cotton with long Shart according to Eules & Legulat?					2 paiz	1475.00	2950 00			W-10130		
Knee Cap & Anklet Taekwondo & Judo Kit Heavy Cetton with long Shart according to Eules & Zegulat?	2	Messiling Tape 50 mt.			1 050	30.000	The second second	(abposite man)	- No. 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1	14 MAZ	
Tackwood of Judo Kit 45et 825.00 3300.00 heavy Cotton with Long Shart according to rules & Regulat".	-			- 0	12 pai2							
heavy Cotton with long. Shart according to Eules & Legulat".	-	Tackwondo & Judo Kit	1919		Carlotte and the	825.00	3300.00	Alah Ka	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
Segulat".							8 Patricia					
Segulat".	-	Short according to Eules &					70 10-Pa	Marrial	C. Carrier and C.			
Total 17680.00	-	Regulat".				Bully.	377000			1		
	1	Salada Palanti			1 36	Total	17680.00		A LOS			

		7	18564:00 - B	11/00 KG/18	
8.	T-shist (jessy) with short	12 Set	360.00 4320.00	Khandesh sparts	
	(half part) cotton base honey comb.			Bill No. Ka/19	
	naterial with printing for boys			14/10/2015	
	Volley ball		1 1 1 1 1 1 1 1 1 1 1 1	2	
9.	T-shirt (jerry) with short chart	12 set	360.00 4320.00	PARTICIPATION CONTRACTOR	THE ALL DESIGNATIONS
	part) cotton base hong amb			The state of the s	
	Material with pending for			1624	
	Giels Volley ball Team.				
10.	T-shiet Round neck with	12-set	390.00 4680.00		
	Shorts heavy thick quality				
	Loe Kabaddi with paint		E MILET OF LOCAL DESIGNATION OF THE PARTY OF		
11	7-shiet with shaet cotton	5 kit	360.00 1800.00	IN CHEST	
	base honey comb for Chess		A CONTRACTOR OF THE PARTY OF TH	E PALL	
12	2. T-shirt with short for	20 ket	360.00 7200.00		
	Boxing team mem				
-	3. Ceicket Ball Leather	12 psc	350-00 4200-00		
	4. Cricket does jalitull pant	14 Set	525.00 7350.00		
	with painting then constructed		-11 000		
	With Heinting thing constitute and		Tad 33870.00		10
			VAT TOX 1693.00		
			35563.00 —	Billno ka/19	
-					

Vat 10x 304 -0

कला विज्ञान आणि वाणिज्य महाविद्यालय, धरणगांव **जि. जळगांव**.

डंडस्टॉक रिनिष्टर सन 2815 - 46 (२०।५-।६)

1		मागील वर्षात	ील नग वस्त	नविन	वस्तुंची खरेदी	THE YEARS	. 10		एकूण		
अ क.	मालाचे वर्णन	मागील नग / वस्तु	किंमत	नवीन वस्तु / नग	वस्त्/नगाव		सामान अन्ह्याच तारीख	सामान कोणाकडून आले	एकूष नगव वस्तु ३+५	8+6	शेरा
9 -	2	3	8	-34	Ę	9	6	9	1 80	88 1	
T										280	
	MAN STREET, NAME OF STREET				4	18564.00		Bill No. Ka/18		1	
1						35563.00		Bill No. Kalig			
					Total =	54127.00					
14		Total Rs.	Figh	Fore H	iousand i	one hund	led twe	enty seven only.			
1		I have	e phys	ically V	rezified	the w	shole of	ove new etems d	found	Collec	<i>t</i> .
					wat	>		Principal of .03.1			
				Arts, Commi	or of Phy. erce & Science gaon, Dist-Valg	College (5)	S P P P P P P P P P P P P P P P P P P P	Tuto, commo so a deletica comogo			
				Ulidiali	gaun, Dist-yaig	100	Paniaming 198	Dharangaon, Dist-Jalgaon			
								THE POST OF			

पो. आर. हायस्कूल सोसायटीचे कवा विञ्चान आणि वाणिज्य महाविद्यात्म्य, घरणगांव जि. जळगांव. डेडस्टॉक रिजरूटर सन 2846 – 47 (२०१६-१7)

व		मागील वर्षाती	ल नग वस्तु	नविन वस	तुंची खरेदी					एक्ज रि	मत	
活 。	मालाचे वर्णत	मागील नग / वस्तु	किमत	नवीन वस्तु / नग		एक्ण किमत	सामान अस्याची तारीख	सामान कोणा	कडून आले	एक् भ नगव ए यस्तु ३ + ५		श्रेरा
	Valley Rolls of Hotel	3	8	9	Ęı	6	6	1.1 1 1		1 10	5.5	
-	Volley Balls synthetic			6 psc	7601-	4560.00		Khandesh	5 ports			
	Onepice NIVIA G20-20		-					BIL No. KA				
	Volley Ball One pice NIVIA			3 pse	1110/-	3330.00		23/9/1	6			
	Spot volley											
	Net for Volley Ball Cotton Lina			PSC	980/-	980-00					1	1
	Boxing ()							-			1	1
-	Boxing Gloves AMATEUR USI										1	1.
				2 Pais	28001-	5800.00						1
1	Boxing Gloves										1	
	RELIANCE USI			1 Pais		- 1460-00					1	1
0	Tooth-Gald			6 Psc		360-00		1				
-	Knee cap And Anklet			15 Pais		1800-	0				1	
1	T-Shiet & Shoets			66 Set		- 2376.						A Physical Reviews
	toning com material with								white the			
1	Painting Both Volley Ball					Mary Comment	10	A CONTRACTOR OF THE PARTY OF TH	The same		40	
	12+12, Weesting 7+	5		1		1	D.C			1	1	1
	Juddo, 5 Teykwando,	-								1	1	1
	5 chess, 5 swimming, 15		-		M-1127	7	NO.		FIFT 13			11
	Boxing		-	-		751			K PH			
3.	Round Neck Kubaddi					1 1.0	00 00				-	
	Superpoly Heavy			3000	THE PURPLE	1901- 46	10 -			- 1		
10	· Sando Baniyan Humy	PKH		12	Set !	3201 38	40-00					14 19 3
10	Short with Both side	2 painting				50	570.00					
	Show with the least					1						
	A Shall of Shall o	198			V	AT. TAX 3	colven	@:11 N	0 · KR-16			
	ST (ST 1 19) ST 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			1	G.	Total =153	0004:17	101111				
	THE PARTY OF THE P							0	1			
	THE REAL PROPERTY.	To	stal Rs.	Figty 1	tree t	housand	Six hundle	d Jove or	ry			
		Messale I		1 //		1				00	1.	Land 1
-		Ten III	7 1	are photi	cally Ve	exified ;	the whole	above new	items	& four	pol co	THECK.
				01	/							
						1			(8	Buchola		
1					-	51:10		orease	-	010	1	-
						wary.	(Acc)	eloca (Se)	Drin	cinai	01	1
					Arts Commet	r of Phy. Edince & Science Co	onege of the	Trough Ja	tte Commerce &	Cipai L Science College	01	
	,				Arts Commet	r of Phy. Edince Co gaor Dist-Jargao	onege of the		tte Commerce &	cinai	01	

कला विज्ञान आणि वाणिज्य महाविद्यालय, धरणगांव जि. जळगांव.

डेडस्टॉक रिनट्टर सन १९६७ - ६१८ (२०१४ - १८)

12 kt 360/ 4320.00			मागील वर्षाती	ल नग वस्तु	नविन व	स्तुंची खरेदो					किंमत	
12 kt 360/ 4320.00 Khandesh 5002th 12 kt 360/ 4320.00 Jovoia No. K5 44 23103 2018 12 kt 360/ 4320.00 12 kt 390/ 4680.00 12 kt 390/ 4680.00 12 kt 390/ 4680.00 12 kt 390/ 4680.00 15570.00 15570.00 15570.00 15570.00 15570.00 15570.00 15657 383.25 1567 16349.00 16349.00 16349.00 16349.00 16349.00 16349.00 16349.00 16540.		मालाचे वर्णन		किंमत	नवीन वस्तु / नग	वस्तु/नगाचा भाव	एक्ण किमत	सामान अग्स्याची तारीख	सामान कोणाकडून आले	वस्तु ३+५	8+9	शेरा
12 kt 360/ 4320.00 Invoice No. K5 44 23/03/2018 12 kt 360/ 4320.00 Invoice No. K5 44 23/03/2018 12 kt 360/ 4320.00 12 kt 390/ 4680.00 12 kt 390/ 4680.00 12 kt 390/ 4680.00 15570.00	i	3	3	*	4	Ę:	6	6	, , , , ,		99	
12 kt 360/ 4320.00 Invoice No. K5 44 23/03/2018 12 kt 360/ 4320.00 Invoice No. K5 44 23/03/2018 12 kt 360/ 4320.00 12 kt 390/ 4680.00 12 kt 390/ 4680.00 12 kt 390/ 4680.00 15570.00	+								Khandesh sports		-	
Printing ball kit gizls T-sh	1	Volleyball kit T-shirt			12 kit	360/-	4320.00					
speal kit gizls T-sh lad with printing. Is with short with Swift 3 set 750+ 2250.00 Sast 383.25 Cast 383.25 Moft 0.50 Tatal 16349.00 Total Re Sixteenth thousand Three hundled Fourty Nine and y.		with painting							23/03/2018			
Joint Printing. 12 'kit 390/- 4680 00 22 with short with 3 set 750/ 2250 00 565T 389.25 C65T 389.25 C65T 389.25 Total he Sixteenth thoward Three hundred Fourty Nine only.	1	Valley hall kit coigh Tish	16161	111	10 4	3601	1320-00	8 1 1	The same of the sa			
12 kit 390/- 4680 co 24 with short with 3 5ct 750/ 2250 co 565T 383.25 C65T 383.25 Ploft 0.50 Total la Sixteenth thoward There hundred Fourty Nine only.		with chall with pointing			12[0]	2001-	NO.					
2 Suit 3 Sot 750+ 2250.00 Sost 389.25 cost 389.25 cost 389.25 Testal 16349.00 Total la Sixteenth thousand Three hundred Fourty Nine only.	1	1.1 11. a l			lo d l	4.0.1	1.10			1		
2 Suit 3 Set 750+ 2250.00 15570.00 565T 389.25 CGST 383.25 Ploft 0.50 Total 16345.00 Total R. Sixteenth thousand Three hundred Fourty Nine only.	1	Kabaddi lound neck			12 Kit	3901-	4680.00	- 9	Date to Serve			
2 Swif 35t 750t 2250.00 15570.00 365T 389.25 c65T 383.25 Ploft 0.50 Testal. 16349.00 Total he Sixteenth thousand These hundled Fourty Nine only.	-	I-Shiet with short with				A L	TANK !	0		THE STATE OF		Link-
2 Swif 35t 750t 2250.00 15570.00 365T 389.25 c65T 383.25 Ploft 0.50 Testal. 16349.00 Total he Sixteenth thousand These hundled Fourty Nine only.	-	Painting					40.30	21/2				
SGST 389.25 CGST 389.25 CGST 389.25 Ploft 0.50 Testal. 16349.00 Total R. Sixteenth thousand There hundled Fourty Nine only.		Teack Suit			350	7501	2250.00					
Total Re Sixteenth thoward Three hundled Fourty Nine only.		The state of the said			10 11		1 4 18					
Total Re Sixteenth thoward Three hundled Fourty Nine only.		Art Hilliams			4 1, 1	1 10	15570.00				1	
Total Re Sixteenth thoward Three hundled Fourty Nine only.				N W		865T +	389.25			-		
Total Re Sixteenth thousand Three hundled Fourty Nine only.						1		Edition of the same				
Total Ro Sixteenth thousand Three hundled Fourty Nine only.	100	The state of the s		200		1						100000
Total Ro. Sixteenth thousand Three hundled Fourty Nine only.	1	The state of the s	1	Market 1				Land and		1	1	the same
Total Ro. Sixteenth thousand These hundred Fourty Nine only.	1			4	latal.		16349-00		AND THE PERSON NAMED IN	Marin Control	1	
	1	Total Ro. Sixteen	the thous.	and Th	gee hum	alred Fo	16349-00	ine only.				1
			1	save p	payor an	8	70			1		St. Court
I have proportions			12	1	THE WAR	100					13	
			15									
					1	1.1			du			
	-	The second second			20	ty			8 gradon)			
		THE PARTY OF THE PARTY OF THE	MEN .		ulrector	of Phy. Edi	N.	Day 8	28.0418		1	
Litector of Phy. Edu. 28.0 Li 18	4										1	THE RESERVE TO SHAPE OF THE PARTY OF THE PAR
			wally T		Arts, Commerce	on Dist-Jalgace	lleye	U Jaigaon	प्राह्मय	ra		

पी. आर. हायस्कूल सोसायटीचे कला विञ्चान आणि वाणिज्य महाविद्यालय, धरणगांव जि. जळगांव. डेडस्टॉक रजिएटर सन 2018 — \$ 19 (2018—19)

अ		मागील वर्षाती	ल नग वस्तु	नविन व	स्तुंची खरेदो					एक्ण	िमत	
布,	मालाचे वर्णन	मागोल नग / तस्त	किंगत	नयीन वस्तु / नग	बस्तु/नगाचा	एकृण किंमत	सामान आस्याची तारीख	सामान कोणा	कडून आले	एकूण नगव यस्तु ३ + ५	-	धेरा
3	2	नग / वस्तु	*	प प	= =====================================	6	6	4	1	10	59	
				The state of				Khandesh	Sports			
1.	T- Shiet with short Pant		24k	24 ki	360/	8640-0	0	Invoice No.			451	
7	Honey comb material with							19/01/20				
	Reining for volley Ball			1		1960						
	Men & Women											
	rien a women						100	I WALL	The second	16		
9	T- Shiet with short pont			~ l.d.	2601-	1800-00						
	1			2 KI	3607	1800 -00	100		-18			
	Heneycomb modelial with	-		-				200	TOTAL OF			
	Printing for Swimming								-			
						105	-		-			
	T- Shiet with shaet pant			12 kit	360/-	4320-0						
	Honeycord material with			1		4874						
	Painting for Kabadali (W)					9	T I I					200
	0 0						94				461	1
4.	T- Shiet with shall Pant			15 kit	3601-	5400.00		and the second	1		40	
							practice (A)	665		1		4
1	Honeycomb Material with	197	His			1 1 2 4						
	Painting for Boxing							-		-		
				15 kit	3601-	54000				1		
5.	T-shiet with shart pant				R. HOLLINS	The Control of				1	14	
	Homestern Material with				The Aller	11000				1		
	Parkey for Judo meno				ALCOHOL !					1		The state of the s
				- 1.1	2601	1800 00				-	1	
6	T- shiet with short part			5 N1	200/2					1		
	with pending for Wastingle	-			THE STREET				-	- 1		
				101	2601	3600-00				- 1	1	
F	T- shiel with short part			10 10	0.00					-		
	Hicon malerial with pendin fue Atheletics mon	9+	-	File	1 1 2 7	1141				-		
-	The Atheletics mon		-						-	-		
1		4 10	1	101	+ 2901	P 680			-			
1	8. T-shizt with short Han	XX	-	12/4	1 330 /					-		
	Malerial Superpoly with Peinting for Kabada (h	-							-		
	Painting for Kabaddi (m)										
2			-	8 21	1110/	8880-		A IST CASE				
	3. Nivia Spotvolley or	re	-	8 8			2013	613 (83)				
	3. Nivia Spatrolley or Piece volley ball M. Qu	olife					11,000				1	
							1					

पी. आर. हायस्कूल सोसायटीचे कला विञ्चान आणि वाणिज्य महाविद्यालय, धरणगांव जि. जळगांव.

डंडस्टॉक रिजिएटर सन 28\$8 - (१९ (२०१८-१९)

年.	मालाचे वर्णन	मागील वर्षाती			स्तुंची खरेदी		Property on English			िं∗मत	rin.
	STATE ROMAN	मागोल नग / वस्तु	किमत	नवीन बस्त् / नग	वस्तु (नगा व) भाव	एक्ण किमत	सामान अस्याची तारीख	सामान कोणाकडून आले	एकूक नगव बस्तु ३ + ५	४+७	शेरा
?	9	3	8	4	Ę	ь	6	3	1 70	2.9	
				5							
	Navia 620-20 volley bal			4 বাষ	7601-	3040-00		a Franks of			
	O .			V.	N. T.			waite &			
	VB Net pylon Limia			1	10501	1050		Come Jan Co			
	classic			1 818)	12301	- 1250 en	,				
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			10	- Steel	N. Calenda			-		
10	Anklah			3 1 1		22		*		in a	
1.	Inkless per pair suprive			१८ वर्ग	140/-	2520.00		- makes - makes			
	Elastic	-			30 VE V	755 D. C. C.					
K	nee cap perpoir 5. Fleshe	-		18 001	1401-	2520 -00					
	1000				Total = 5	53850.00					
	1917/191 11/19			10	65T	1807-00					
	The second second				+	1807-00	VIII PORTING				
						1×0 +-00				1	1
	JESPINIE NEW YORK			Per lan	THE RESERVE	The second second second					
14				Per lan	THE RESERVE	57464:00					
		0.1		Bill	Amt.=	57464:00					
	Total	Ro. Fift	y Sen	Bill	Amt.=	57464:00	lad Sixta I	et s colo			
	Tata			Bill en thous	Amt.	07464:00	land Sixty Jo	NAME AND ADDRESS OF TAXABLE PARTY.			
	The second second			Bill en thous	Amt.	07464:00		NAME AND ADDRESS OF TAXABLE PARTY.	ema d	found	Casse
T.	Heat I had to be			Bill en thous	Amt.	07464:00		NAME AND ADDRESS OF TAXABLE PARTY.	ems d	found	(0.326
T	The second second			Bill en thous	Amt.	07464:00		above new it	ems d	found	Case
1	Heat I had to be			Bill en thous	Amt.	07464:00		NAME AND ADDRESS OF TAXABLE PARTY.	ems d	found	Casee
	Heat I had to be			Bill en thous	Amt.	07464:00		NAME AND ADDRESS OF TAXABLE PARTY.	ems d	found	Casse
1	Telling trail of the first first from the first			Bill en thous	Amt.	we have		NAME AND ADDRESS OF TAXABLE PARTY.	ems s	found	Casee
1				Bill en thous	Amt.	we have	e whole	above new is	the only		Casse
1	Control of the second			Bill en thous	Amt.	we have	e whole	above new is	the only		Ca.321
				Bill en thous	Amt.	we have		above new it	the only		Casee
				Bill en thous	Amt.	we have	e whole	above new is	the only		Ca 321
				Bill en thous you cally aris, Common Character Common Comm	Amt.=5	Edu. ce College	e whole	above new is	the only		Carre
				Bill en thous	Amt.	Edu. ce College	e whole	above new is	the only		(0.32)
				Bill en thous you cally aris, Common Character Common Comm	Amt.=5	Edu. ce College	e whole	above new is	cipal Science College		Carse
				Bill en thous you cally aris, Common Character Common Comm	Amt.=5	Edu. ce College	e whole	above new is	cipal College Science College Dist-Jalgeon		Case

कला विज्ञान आणि वाणिज्य महाविद्यालय, धरणगांव जि. जळगांव. डेंडस्टॉक रजिएटर सम्बद्ध

									127 & Continue of the Continue		
\$	9	मागोल नग / वस्तु	किंमत	नवीन बस्तु / नग	वस्तु/नग भाव	एक्ण किमत	सामान आस्याश तारीख			किंमत	
1	1.1 11 0	3	Y	9	. 6	9	ताराख	सामान कोणाकडून आले	एक्ष नगव वस्तु ३ + ५	एक्ण कि ४+७	षोरा
	Kabadeli Baniyan Round							W 1 1 1 1	10	5.5	
	Neck & Half Part Set			12 k	390	1- 4680.00		Khandesh Sports			
-	Heavy thick audity for				030	7- 4080		InvoiceNo. KS 342			
	Mens with Printing							11/08/2020			
2.	Atheletic Set Sando B. & Shoel for Mens with			10 kit	320/	- 3200.00					
-	Penting			1			100				
10	Short Part for women			10 kit	3601	3600.00) Lucio	NO.		
V	hist & Shall Part Joe		1	2 kil	3601-	\$ 320 00				1	
t	comens with Printing										
w	x Boxing Kit Sando with Long Shart 100 mms			5 kit	4601-	6900-00					
T	Eack Suit Superior			2 5101	6901-	1380.00					
	huality										
	lavia Spatually Volley Ball			6 मन	1150/-	6900.00					
-	uhistle Avon			12	201-	240-00				1	
1	7,00,1			1	Tatal =	31220.00					
-					CGST	1279.10					
-					-	1279.10					Je T
-											
-			-	KOWD	ding off	22770.00					
-				oill Ha	ot·=	33778.00	10 1	y Eight only			

Sport F	acilities	
Sr.No.	Name Of Sports	Measurement
1	Badminton	13.40m X 6.10m
2	Gym	24 X 24 feet
3	Volleyball Court - 2	9m X 18m
4	Kho-Kho	29m X 16m
5	200m Track	200m
6	Boxing Ring	6.10m X 6.10m
7	Ball badminton	24.40m X 12.20m
8	Cricket Pitch	20.12m X 3.05m

Table Containing Measurements